Estimate of Ditch. No. 48

and its Branches by the

Petitioned Route.

J. E. Hill.
Civil Engineer.

,

Estimate of Preliminary expenses

for

Ditch No. 48

	County of Anoka.	
Pees	in the Auditor's Office,	\$ 75.00
ń	for Printing, notices,	30.00
ä	" Sheriff for posting notices etc.	40.00
rt	" Register of Deeds Office,	5.00
	County Commissioner Meetings and hearings	100.00
	Survey	125.00
	Mstimates and recorts,	75.00
	Inspections,	75.00
	Viewers,	50.00
	Total.	\$ 575.00

Estiante of Ditch No. 48.

Sheet No.	No. Cu. Yds	Cost of Excavation.	Prelininary Cost.	Total Cost
Sheet No. 1.	2714.64	\$ 271.46	\$ 97.09	\$ 368.56
Sheet No. 2.	3070.73	307.04	97,09	404,13
Sheet No. 3	3807,93	556.81	44.71	601.52
Sheet No. 4.	2520,46	320,80	52,38	373,18
Sheet No. 5.	3349.98	502.45	81.30	583.75
Sheet No. 6.	604.30	90.64	20.44	1111,08
	16068,09	\$ 2049.20	\$ 393.01	\$ 24\$2.22
		Branch No. 1.		
Sheet No. 1.	1025, 69	102.57	81.76	184,33
Sheet No. 2.	140.30	14 g 03	15.07	29.10
	11 65.99	116.60	96.83	\$ 213.43
	i J	Branch No. 2.		
Sheet No. 1.	253.0 8	25,31	15.74	41.05
	·B	ranch No. 3.		
Sheet No. 1	. 1290.62	129.06	771 . 54	200.62
Grand Tot	als.18,777.68	\$ 2320.17	\$ 577.12	\$ 2897,32

Engineer's Report

IN

Ditch Proceedings.

WILLER-DAVIS PRINTING CO., MINNEAPOLIS

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Main. Ditch No. 48

			(1)	(2)	(3)	(4)	(5)	(6)		(7)
	SECTION		DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yards	Character of Other Expenses, Including Prelimi And Expense of Inspecting Work Until Co With Total Per Section	nary Expenses ompleted	Total Estimated Cost per Secfion
							\$ CTS.		\$ CTS.	\$ CTS.
		0	21,2	3	11,01					- and a service of the service of th
	Between Stake No.	1	4,3	•	11.6	11414	10	11.41	5 11	16 52
	$and\ Stake\ No.$	2	4.3		11,6	11609	THE COLUMN TO TH	11,602	511	16 73
	Between Stake No.	3	4.5		12.0	120.60	DESCRIPTION OF THE PROPERTY OF	12.06	511	1717
	$and\ Stake\ {\it No}.$	4	4.6		13.2	127,25	200	12.72	511	1783
	Between Stake No.	3	4.5		12,0	12725		12.73	511	1784
41.4	and Stake No.	6	4.7		12.4	12950		1295	511	1806
NOW.	Between Stake No.	7	4.8		12.6	, 136,35		13,63	511	18 74
	and Stake No.	8 .	50		130	143,38		1434	5 11	19 45
	Between Stake No.	9	52		13.4	153,01		15,30	511	2041
	and Stake No.	10	H.6		13.2	14338		14.34	511	1945
	Between Stake No.	//	4.5		12.0	127.25	,	12,72	511	1784
	and Stuke No.	12	4.6		12.2	137,25	100000000000000000000000000000000000000	12.73	511	1784
	Between Stake No	13	4.7		124	13177		13.18	5.11	1829
	and Stake No.	14	4.7		124	134,04		13H0	511	1851
	Between Stake No.	15	5,0		13.0	141.02		14.10	511	1931
	and Stake No.	16	J./		13,2	150,59		15.06	511	2017
	Between Stake No.	17	6,3		15.6	183.67		18.37	511	3348
	and Stake No.	+55	7.9		18.8	13758		13,26		
-5u	Between Stake No.	18	J.8		121.6	102.18	200	1022	511	98 59
	and Stake No.	19	5.2		13.4	173,16		17:3~	511	32 43
				A SECTION OF THE PROPERTY OF T		9.714 ist		27146	97.09	1 17

2714,64

Total Estimated Cost of Whole Work, \$ 209 269 \$ 6

main Ditchi

EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______ Ditch No.______

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including And Expense of Inspecting Work	Until Completed	(7) Total Estimated Cost
						\$ CTS.	With Total Per Sec	tion \$ CTS.	per Section \$ CTS.
Between Stake No.	20	5.3	3. 0	j3.6	160,04	10	16.00	511	3111
$and\ Stake\ {\it No}.$	21	5.9	*	148	178,38	0/10	17.84	511	3295
Between Stake No.	44	6.2	e un constant de la c	15.4	8.00	10	.80	•	
and Stake No.	22	5.8		14.6	192.00	10	19.20	511	3511
Between Stake No.	93	5.2	PARAMETER AND	134	173.16	10	17.31	5 11	3242
and Stake No.	g 4	5.1		132	155.50	10	15.55	5 11	2066
Between Stake No.	95	5.1	•	13.7	153.01	10	15.30	5 11	2041
$and\ Stake\ No.$	96	5.7		13:4	15550	10	15.55	511	2066
Between Stake No.	97	5.8		13.4	157.94	10	15.79	511	3090
$and\ Stake\ {\it No}.$	28	5.5		14.0	165,40	10	1654	5//	2165
Between Stake No.	39	5.2		134	165.40		1654	511	2165
and Stuke No.	30	5.4		13.8	162,94	10	16.29	511	2140
Between Stake No	31	グン	To the second se	13.4	165.40	10	16.54	05//	2165
and Stake No.	37	5.2	•	13:4	157.94		15.79	511	2090
Between Stake No.	33	5.1	•	139	15550	10	1555	511	2066
and Stake No.	34	50		13.0	150.42	'	15.04	511	2015
Between Stake No.	35	5-1		13.2	15042		15.04	5//	2015
and Stake No.	36	50	William Personal Pers	13,0	150.42	10	15.04	511	2015
Between Stake No.	37	5./	THE PROPERTY OF THE PROPERTY O	13.5	150.42	10	1504	511	2015
$and\ Stake\ No.$	3.8	5.5	AND CONTRACTOR OF THE PROPERTY	14.0	169921	/0	16.29,	511	2140
						instructionis instruction and I are Alexand	and the state of t		1. 11. 1.0 4

30707.3

Total Estimated Cost of Whole Work, \$7.09 404. 136

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______ Ditch No.______

SECTION	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	And Expense of In	(6) oses, Including Preliminary Ex specting Work Until Complete Total Per Section	penses d	(7) Total Estimated (
					\$ CTS.			\$ CTS.	_	стs.
Between Stake No. 3 f			Port.	Yard. 9 910,69		39 107	·		,	**************************************
and Stake No. 39	4.7	3	13.4	15301	/ 0	1530	2 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	5 11	20	41
Between Stake No.	4.75		12.5	13450	10	13:45		5 11	18	56
and Stake No. —			Sandil/s to/. Slope			319,82	-	electronic de la constitución de		
Between Stake No. 70+59	6.16	. 4	37.48			Tord		and the second s	·	
and Stake No. 7/	634		83.08	136.89	-	12.69	19.03	5/1	. 24	14
Between Stake No. +50	6.91		2-4.73	17 1.1.1.	+-	4 Tipo	25.67	Sequilies or serverable		
and Stake No. 455	9.11		3/33	34.07	45	31/	3,61	actives concentrations		
Between Stake No. +75	8.85		30.65	/	46	Je for the	1746	PHADAGINA		-
and Stake No. 77	6.69		34.07	11440	1	71.11	17.16	5 11	69.	01
Between Stake No. +35	633		39,99	83.00	-	830	12.45	ничени подписора),	
and Stuke No. + 60	636		73.08	111.31	@/5¢ +0	4/-	16,68	and the second s		-
Between Stake No 73	7.74		97,22	157,20		1.5-3-3	22.83	5 11	57	07
and Stake No. +50	8.62		z9.86	347,00	. 4	3/70	37.05	, constantination		7.
Between Stake No. 74	7.80		87.40	247,60		5176	37.12	5//	79	30
and Stake No. +30	8.05		38.15		70	13.93	20,90	попосования пограсы		
Between Stake No. 75	10,65		35.95	443.31	-	1///33	6649	511	92	50
and Stake No. +50	1132		37.66	<u>~//3,33</u>	**	11/33	62,00		/-	
Between Stake No. 76	11.41		36.73	-3940	1 0	13. Qul	65.91	5 11	133	03
and Stake No. +75	11,82	,	39.46	691.20		69.14	10368	3 83		51
J. S. Carrier and C.			,,72	,	40		528.06	34.49		·55 ch
				352042		$Total\ Estimated$	Cost of Whole Work	, \$	J W V	.00 \

69+9

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______Ditch No.______

		(1)	(2)	(3)	(4)	(5)	(6)	(7)
SECTION	Transfer or the second	DEPTH OF CUT	WIDTH OF CUT	WIDTH OF CUT	NO. OF CUBIC YARDS	Estimated Cost	Character of Other Expenses, Including Preliminary Expenses And Expense of Inspecting Work Until Completed	Total
			AT BOTTOM	AT TOP	TO BE REMOVED	Per Cubic Yards	With Total Per Section	Estimated Cost per Secfion
						\$ CTS.	\$ CTS.	\$ CTS.
Between Stake No. 76	, っナフ ケ	DITEXT CONTROL OF THE)		Ford.	The second secon
and Stake No.	77	11.96	4	39.88	(240.30	0,000	36,04 128	3732
Between Stake No.	430	5.91	4	21.73	188.01	(C/5k +0	· 78.80 28.20 517	
and Stake No. 7	8	545	**************************************	510pe 151	183,50) -	78.35 27.52 511	6083
Between Stake No. 7	9	グ ラフ	THE PROPERTY OF THE PROPERTY O	15,5	776.10	10	87.13 511	\$324
and Stake No.	so	6.12	And the state of t	16.2	718.40	70	81.81 86.21 511	1 3/32
Between Stake No.	81	5.78		137.6	318.40	. 10	21.81 26.21 511	1 31 32
and Stake No.	82	5.87	ALTER PROPERTY AND ALTER A	158	710.60	100	31.06 75.97 511	3038
Between Stake No.	83	6.08	The state of the s	16.2	3 x 3.23	@125 10	- 2222 76.67 5/	3/78
and Stake No.	84	5.84	- Andrews - Andr	15.7	777.73	10	- 30.23 - 3667 5/	3178
Between Stake No.	85	5.59	TANKS AND	/3 ⁻	202.49	10	20,25 34,30 51,	3941
$and\ Stuke\ No.$	86	5.45	THE PROPERTY OF THE PROPERTY O	15.9	19352	10	79.35 83.22 511	2833
Between Stake No	£7	5.60	-	15.2	194.70	1 40	19:17, 73,36 511	28.47
and Stake No.		-	NO CONTRACTOR DE LA CON	TO A STATE OF THE	25 vox6		1348.80 52 38	3/3/8/1
Between Stake No.	The state of the s	Section and the section of the secti	OCCUPATION AND AND AND AND AND AND AND AND AND AN	Committee	5 +1			
and Stake No.	-		To Control of Control	000000000000000000000000000000000000000				
Between Stake No.	And the second s		STATE OF THE STATE				O CONTRACTOR OF THE CONTRACTOR	
$and\ Stake\ {\it No}.$	ericinessimi	1	*			The state of the s	,	
Between Stake No.		22777777777		-	·			
and Stake No.			CAMPAGNATA		•			· Consideration of the constant of the constan

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in______Ditch No._____

			(1)	(2)	(3)	(4)	(5)	(6)		(7)
	SECTION	0 0	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yards	Character of Other Expenses, Including Prelimin And Expense of Inspecting Work Until Con With Total Per Section	ary Expenses npleted	Total Estimated Cost- per Section
To the discharge day of the first days		G.N. Reguld 8 + 9- Edg	Way				\$ CTS.		\$ CTS.	\$ CTS.
					14.8	- ·			diday managaran	
. •	Between Stake No.	89	5.5	4	15.0	177.5-1	15	2658	465	3/23
	and Stake No.	90	5.8		15.6	201,60	13	3024	5.11	3535
	Between Stake No.	91	5.9		15.8	913.12	15	3196	5//	3707
	and Stake $No.$	98	60		16.0	319.0 et	15	3-85	511	3796
	Between Stake No.	93	6,2		164	32859	15	3429	511	39 40
J ~	$and\ Stake\ No.$	94	6,3		16.6	831.62	ひ	3474	511	39.85
epition.	Between Stake No.	95	6.5		17.0	3 48.13	15	3752	5//	4233
	and Stake No.	96	8.8		51.6	334,55	「	5018	511	55,29
	Between Stake No.	97	6.8		17.6	344.25	15	5/64	511	5674
	and Stake No.	450	5.0		14.0	10817	co. 15	1622		
	Between Stake No.	98	6,0		16,6	96.76	\sqrt{5}	12/5/	511	3584
	$and\ Stuke\ No.$	99	4.9		13.8	190.76	15	3862	5 11	33.73
	Between Stake No	99+50	2.8		9.6	55.98	/5	839		
	and Stake No.		8.8		21.6					
	Between Stake No.	100	6.5		17.0	16.7.34	15	2510		
	and Stake No .	100	5.5		15.0				511	3860
	Between Stake No.	101	41	,	12.2	1.56,48	45	5347	511	3858
	and Stake No.	102	3,9		11.8	1.18.54	15	1778	5 41	3389
۸,	Between Stake No.	103	21.1		15.2	11854	15	17.78	311	2289
No. or	and Stake No.	104	48		13.6	139,30	15	20.89	5/1	36.00
- Commercial Coloring						1000		502-45	8120	- C = -7 C

3349.98

Total Estimated Cost of Whole Work, \$8130 583.75

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______ Ditch No.______

	(1)	(2)	(3)	(4)	(5)	(6)		(7)
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yards	Character of Other Expenses, Including Preliminary I And Expense of Inspecting Work Until Comple With Total Per Section		Total Estimated Cost per Section
					\$ CTS.		\$ Ств.	\$ CTS.
Between Stake No. 105	5.2	of	1 el.el	166,67	15	75,00	5//	3011
and Stake No. 106	5.5		15.0	185,27	15	27.79	511	3290
Between Stake No. 107	- 5.1		142	187.55	15	₹7,38°	511	3249
and Stake No. 107-140	5,2		1 4.01	69.81	15.	1047	511	15.58
Between Stake No.	-			60H.30		90,64	2014	111.08
and Stake No.		to produce the second						
Between Stake No.								
and Stake No.) otal Between Stake No.	Mais	1 Wilch	indicate and the second	16,068.04		2049.16	393.01	2442,20
Between Stake No.	Branc	h 1.		1165,99		11660	9683	213.43
and Stake No.	N	2		253.03		25.31	15 74	41.05
Between Stake No.		3	,	1290,62		12906	7154	200,62
$and\ Stuke\ No.$				18,777.68		V3 20.13	57712	1897.30
Between Stake No	•						The second secon	- Name of the state of the stat
$and\ Stake\ {\it No}$.			·				MANAGE CONTRACTOR OF THE PROPERTY OF THE PROPE	on minima de la compania del compania del compania de la compania del la compania de la compania dela compania del la compania de la compania del la compania del la compania del la compa
Between Stake No.					ar a reasonment and a second			HIC CONTROL OF THE CO
$and\ Stake\ {\it No}.$					date to the state of the state			
Between Stake No.								
$and\ Stake\ {\it No}.$								
Between Stake No.		AS A CONTRACT OF THE CONTRACT					A HEROPOTAL TO COMPANY VIOLENCE CONTROL TO	PERCENTAGE AND ASSESSMENT ASSESSM
and Stake No.		100						

Total Estimated Cost of Whole Work, \$.....

Branch Mo

EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch / Ditch No. # 8

			(1)	(2)	(3)	(4)	(5)	(6)		(7)
	SECTION		DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yards	Character of Other Expenses, Including P: And Expense of Inspecting Work U: With Total Per Section	ntil Completed	Total Estimated Cost per Section
erkent transport over the second and the second sec							\$ CTS.		\$ CTS.	
	Between Stake No.	0	2.03	2	603					TERMINANT AND THE PROPERTY OF
	$and\ Stake\ {\it No}.$	/	1.99	9	5.9	7965	10	8.96	5.11	807
	Between Stake No.	3	3,65		7.3	75.33	10	2,53	511	7 6et
	and Stake $No.$	3	3.10		8.3	51.74	10	5.17	511	1028
	Between Stake No.	4	9.75		7.5	52.65	10	5.86	511	10 37
,	$and\ Stake\ No.$	5	3.79		7.5	47.40	10	4.74	311	9 85
4.0	Between Stake No.	6	7.65		7.3	47.10	/ 0	4.71	511	984
•	$and\ Stake\ No.$	7	3.18		8.4	67.98	/ 0	6,80	511	1191
,	Between Stake No.	8'	3.33		8.7	64.10	/0	6,41.	5//	1152
	$and\ Stake\ No.$	9	7.88		7.7	5855	10	5,86	5/1	1097
	Between Stake No.	1.0	3.03		6.1	40.60	10	4.06	511	9.17.
	and Stuke No.	460	2.85		7.7	3-436	10	7.44		.
	Between Stake No	11	3,38		Slope 11/2 to 17	33.42	10	3.34	5/1	989
	$and\ Stake\ {\it No}$.	18	1.34		15.02	///.//	/ 0	11.11	511	1672
	Between Stake No.	455	4.72	areas of old	16.16	92.88	10	9.29	ординеский менений ме	entre de la constante de la co
	$and\ Stake\ \mathcal{N}o.$	13	1.39	areas of Old Ditch-Subtracted	15.77	76.8.2	/0	7.68	511	3208
	$Between\ Stake\ \mathcal{N}o.$	12/	3.5-21	12.1	9,1	117,40	. 10	11.74	5//	1686
	and Stake No.	15	3.5-9	13.83	9.2	47.80	10	4.78	511	9 89
4.	Between Stake No.	16	364	11,5	9.3	46.80	10	4.68	511	9 79
	and Stake No.					1045,69		107.57	81 76	

Total Estimated Cost of Whole Work, \$.....

.

SECTION	A ()	DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Prel And Expense of Inspecting Work Unti With Total Per Section	iminary Expenses il Completed	(7) Total Estimated Cost per Section
7 9	All	en ervo		nttmu	9. e) 1	\$ CTS.		\$ CTS.	\$ CTS.
Between Stake No.	16 17.	3,80	8	But Sord, 9.6	1035,69 45,90	10	102,57	81.76 511	184 33
$and\ Stake\ {\it No}.$	18	3.75		95	47.20	10	1 4.78	511	983
Between Stake No.	+95	3.90		9.8	47.20	10	1.72	485	9.57
and Stake $No.$					1165,99		116,60	96.83	7/3 H3
Between Stake No. and Stake No.	anch No 2				'				
Between Stake No.	0	2.80	8	7.60				wasqirigaminyigg	, and the second
and Stake No.	416	9.56		7.10	7.29	10	7.73		The state of the s
Between Stake No.	/	2.77		7.54	38,30	10	<i>3.83</i>	511	1967
$and\ Stake\ {\it No}.$	2.	3,84		9.44	64.76	10	6:+8	511	1159
Between Stake No.	3	3.70		8.40	74.70	10	7.47	511	1958
$and\ Stuke\ No.$	408	3.57		9,14	67.98	10	6.80	4/	791
Between Stake No	-	•		•	7 53.03	000000000000000000000000000000000000000	45,37	15.74	4105
$and \ Stake \ No.$		1						and a second sec	3
Between Stake No.			•						
and Stake No.									
Between Stake No.			2000						
$and\ Stake\ No.$									1
Between Stake No.							•		***************************************
and Stake No.									

Total Estimated Cost of Whole Work, \$.....

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch 3 Ditch No. 48

	•		(1)	(2)	(3)	(4)	(5)	(6)		(7)	
٠	SECTION		DEPTH OF CUT	WIDTH OF CUT	WIDTH OF CUT	NO. OF CUBIC YARDS	Estimated Cost	Character of Other Expenses, Including Pro And Expense of Inspecting Work Un	aliminary Expenses	Total Estimated Cost	
	Ŋ.,	din a al	Lota Mag	AT BOTTOM	AT TOP	TO BE REMOVED	Per Cubic Yards \$ CTS.	With Total Per Section	ı .	per Section	
							\$ CTS.		\$ CTS.	\$ CTS.	
	Between Stake No.	0	2.86	3	8.7	4					
	and Stake No.	/	2,90	3	8.8	63,36	10	6,34	311	11.45	
	Between Stake No.	8	3.24		9.4	54,10	10	5H1	511	105%	
	and Stake No.	3	3.38		9.8	7 7.90	10	7.80,	5//	1291	
	Between Stake No.	+	362		10.2	. 84.36	10	8.43	511	1354	
~3·	and Stake No.	5	3.7/		10,4	89.90	10	8.99	5 1.1	1410	
	Between Stake No.	6	3.75		10,5	91.80	10	9.18	511	1439	
	and Stake No.	7	3.84		10,6	95.70	10	9.57	511	1468	
	Between Stake No.	. 0	3.88		10.8	97.40		9.74	5 11	1485	
	and Stake No.	9	387		. 10.7	98,80	. /0	9.88.	511	1499	
	Between Stake No.	10	3,86		10.7	97:40) /0	9.74	511	14 85	
	and Stuke No.	//	4.04		/1./	122.90	1,0	12.29	5/1	1740	
	Between Stake No	18	4.08	•	11.2	106,10	10	106/	511	15 62	
	and Stake No.	13	402		11,0	105.70	10	10.57	511	1568	
	Between Stake No.	14	4.06		11.1	105.30	10	/ 0,53 	511	15.64	
	$and\ Stake\ No.$		TOTAL PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADD			1790,60		129.06	71 54	20062	
	Between Stake No.		The second secon		117.7	£ 3 / 1				-	
•	$and\ Stake\ No.$	2000 and 1000 and 100	1999 (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999) (1999)		101111111111111111111111111111111111111						
b b	Between Stake No.		- Company of the Comp							The state of the s	
N. s	and Stake No.				·						

Total Estimated Cost of Whole Work, \$.____

Exhibit 2.

Ditch No. 48 Anoka Co.

. Engineer's Report.

Filed in the office of the

County Auditor of Anoka County

at 2..... M. this

A. D. 1908

County Auditor.